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mRErRoERER | |e@E  [O]|-#@E (2 m)
mofa: [ | s [
K548 WIAER B3 BEL) X1 B8 (kg) X1
TIRFVY RELDF vy, 5tz 46 1.98 0.190
B (RybRbL) <1L 19 12.75 1.030
— Z0HDTIHRML<IL 17 14.10 1.310
FEA (RybRkL) Z 10 1 395 0.050
ZOMDTIHRMLEEZIL 2 31.85 1.750
ZhE— 5 027 0.007
TRS— TF—Y . FA4T . RT—% 1 0.27 0.006
BRBEH(I7—ART—R 2T [ SUFRYIR ZNIZETBE0) 68 23.70 0.380
ARG (FHEBA., FEH) 133 49.18 1.820
FA45— 4 0.53 0.050
F—T (FEYNR EZ—ILT—T) 11 1.41 0.010
—hPROB A 25.50 0.780
BESSRAFYIMA 25.50 1.330
JLaY 5 212 0.040
FFOA) GRE) 4 38.41 3.020
o—7- 04 (GRE) 16 7.90 0.180
FFIR(TE, ) GRE) 0 0.00 0.000
HEEBEAFHE (RE1.5cm) (BE) 1 0.03 0.006
HEBEFEA/NATERES10-20cm) GRE) 0 0.00 0.000
BEGRER) 5 7.90 0.090
ZOMDBRE(RE) 5 8.27 0.720
#E 6 1.58 0.060
F=(ET/FE (T1IL2—) 0 0.00 0.000
EEHE (WIS 32 47.96 0.910
HARYE 8 7.90 0.040
ZDith 9 143.95 6.930
(ERRFA—IL) avy BRES 18 212 0.001
FAXFO—ILETO—L FF(TA) 0 0.00 0.000
FAXFO—ILOWE 263 0.030
FARFO—)LWaEH 0 0.00 0.000
Z0ith 0 0.00 0.000
JL %2 = VN 1 13.21 1.330
AR, B# %2 AR, B 4 1.41 0.340
R %2 o= 23 17.82 0.713
| AUR—IL %2 |#E. FomR—IL 2 2.11 0.060
RAMME, B RAMME, B 7 2.81 0.370
R(K#HE) R(K#HE) 6 21.26 9.310
EeEL, EFHE |ELRR. EFHS 0 0.00 0.000
BAY BAY 72 9682.03 1118.671
Z0ith Z0ith 0 0.00 0.000
WaE 541 10,202.41 1151.533
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RIEE:  HBATEABY—FZEXE mesm:[Olwx [ Jmws [ s | Daﬁ,ﬂ [ Jzotec
REERE: BRH FEDR BE FEME FibE: N 34° 317 E 136° 52" 19.78"
MEXRMA: 2023 £ 9 H 128 ~ 9 A 138 /R BB E TEEE (51N 35.00000, E 135.00000)
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RAEFAOENER | |26 —gE@EE (5 m)
mofia: [ | s [O]
K548 WIAER B3 BEL) X1 B8 (kg) X1
TSRFYY RELDF vy 5= 225 9.48 0.490
B (RybRbL) <1L 11 15.30 0.580
— FODTSRAL<IL 6 353 0.114
FEA (RybRkL) Z 10 0 0.00 0.000
ZOMDTIHRMLEEZIL 0 0.00 0.000
ZhE— 66 237 0.071
TRS— TF—Y . FA4T . RT—% 1 0.01 0.001
BRBEH(I7—ART—R 2T [ SUFRYIR ZNIZETBE0) 54 8.10 0.185
ARG (FHEBA., FEH) 130 9.45 0.259
FA45— 9 1.05 0.111
F—T (FEYNR EZ—ILT—T) 41 353 0.034
—hPROB A 15.30 0.380
BEISRAFIIWA 10.50 1.068
JLaY 8 212 0.019
FFOA) GRE) 0 0.00 0.000
o—7- 04 (GRE) 66 25.50 1.780
FFIR(TE, ) GRE) 0 0.00 0.000
HEEBEAFHE (RE1.5cm) (BE) 48 0.79 0.028
HEBEFEA/NATERES10-20cm) GRE) 0 0.00 0.000
BEGRER) 0 0.00 0.000
ZOMDBRE(RE) 0 0.00 0.000
#E 6 234 0.038
F=(ET/FE (T1IL2—) 4 0.08 0.010
EEHE (WIS 78 6.32 0.485
HARYE 13 494 0.066
ZDith 84 55.59 1.992
(ERRFA—IL) =R 110 7.05 0.060
FAXFO—ILETO—L FF(TA) 0 0.00 0.000
FAXFO—ILOWE 20.40 0.730
FARFO—)LWaEH 0 0.00 0.000
Z0ith 0 0.00 0.000
JL %2 = VN 12 12.98 1.451
AR, B# %2 AR, B 29 10.27 1.868
R %2 o= 16 8.88 0.827
| AUR—IL %2 |#E. FomR—IL 0 0.00 0.000
RAMME, B RAMME, B 0 0.00 0.000
R(K#HE) R(K#HE) 14 15.30 0.980
EeEL, EFHE |ELRR. EFHS 2 2.10 0.204
BAY BAY 8 2136.00 245860
Z0ith Z0ith 0 0.00 0.000
WaE 1,041 2,389.28 259.691
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HERFRE: =8R8 REBFORITECEY): 1 m
EHE:  HEAXBABUY—F=EXE maenE:[Olwr [ Jms [ Jmr [ |row )
AEEE: HEM R R DR BE AEMA POA: N 34° 19" 00.77” E 136° 53" 11.74"
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K74 WAER LR BEDL) X1 B2 (kg) X1
ISRFVY RELDFrvT, 5tz 0 0.00 0.0000
B (RybRbL) <1L 15 15.30 0.7300
AL ZDOD TSR L <IL 3 3.16 0.1700
BREA (RybRR L) 210 3 6.32 0.0900
ZODTSRELEZ1L 0 0.00 0.0000
ZbO— 1 0.05 0.0010
TRS—TF—D. F4I . RT—0%F 0 0.00 0.0000
BRER(T7—RANT—F, 29T FUFRYIR ZThIZETHED) 8 1.05 0.0200
RYLK(FEH. EH) 12 282 0.0600
48— 1 0.05 0.0090
T—T (FEYNUR EZ—LT—T) 1 0.06 0.0010
D OROWHA 6.32 0.1050
BEITSRAFIIHA 3.16 0.0550
LAY 11 4.94 0.0540
EFFONCRE) 2 0.71 0.0260
A—7- 04 (EE8) 4 7.88 0.9580
TR (I4E, &) RER) 0 0.00 0.0000
AFXEREAEHE (RE1.5em)(BE) 0 0.00 0.0000
HFBEEA/ AT (EE10-20cm) B E) 0 0.00 0.0000
BEGER) 8 7.05 0.7560
ZTOHDBE(RE) 0 0.00 0.0000
#E 4 237 0.0310
I XTH/ER (T1L5—) 0 0.00 0.0000
EFHEEISVE) 1 0.03 0.0030
AR 0 0.00 0.0000
Z0Ht 0 0.00 0.0000
(FaXFO—IL) avT BRER 28 2.82 0.0220
FAXFO—)LEIO—, FF(TA) 1 52.50 1.0850
HARFO—ILOWH 9.48 0.1300
FARFO—)LE @R 0 0.00 0.0000
Z0ith 6 35.25 0.0800
L X2 =N 0 0.00 0.0000
ASR. MBE X2 AR, b9 0 1.41 0.1670
&E X2 = 3 3.09 0.0670
| FUR—)L X2 | FUR—IL 0 0.00 0.0000
KRG RERMAE 2 2 263 0.4150
ENES>E)) ENES>E) 2 282 0.1290
BLHR, BEFHE |BLERK. EFHS 0 0.00 0.0000
BRY BRY 4 240.20 51.9200
ZDith ZDith 0 0.00 0.0000
HWEE 120 411.47 57.0840
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